
  – —
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











 —



  – —
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
● 
● ⇒
● 



}



∙








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
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








  – —
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
●  —




● 



● 



  – —
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
● 
● 
● 



  – —
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first jet second jet
pT = 624 GeV pT = 594 GeV

yjet = 0.14 yjet = ­0.17
jet = 2.10 jet = 5.27

                    Mjj = 1.22 TeV !

pT






– 



– 




  – —
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
















E ptcl =
Ecal−Offset

F

⋅R⋅S

⋅kbias



  – —
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
● 





● 


● 



● 

● 










  – —

8/17






 

 



  – —

9/17


● 

● 


A =
pT ,1 − pT , 2

pT ,1  pT , 2







 pT

pT

= 2⋅RMSA

 pT

pT

=  N 2

pT
2


S2

pT

 C2



  – —

10/17


● 


⇒

● ⇒


 



  – —

11/17


● 
● ≈
● 
● 

 



  – —

12/17


● 





● 



● 



● 









  – —

13/17


● 



● 



  – —

14/17


● 


● 






  – —

15/17


● 





● 


● 





























pT  bin
pT  bin



  – —

16/17


● 

– 


– 



– 



– 



– 


● 




  – —

17/17


● 


 —


● 



● 



● 

⇒

● 







  – —

18/17





  – —

19/17


● 



● 



  – —

20/17


● 




● 




● 




  – —

21/17


● 



● 
– 
–  

● 

● 


– 

– 

– 



  – —

22/17


● 
● 












Cone jetKT jet


–



∑ ’















  – —

23/17





















● ⇒

●   “ ” 0


●   “ ”  – 




  – —

24/17


● 
● 
● 








  – —

25/17



● 





● 





● 

● 




 
 



  – —

26/17


● 
● 
● 





  – —

27/17






● 

● 

● –

● 



  – —

28/17


● 




● 



● 








  – —

29/17


– 


– 




– 


– 

Main Injector
(new)

Tevatron

DØCDFBooster

Antiproton

Chicago



  – —

30/17


● 

– 

– 

– 

● 


